Vereinfachende Polynome

4(8x — 4x3) +5¢ — 6x—x°

3(9x2 + 8x) + 8x° — 5x +x7

6x° + &% + 2% + 3(7x* — 9x)

2x— 2% —4(3x° + 3x) — Tx°

Sx+ 4x* — 9x° — 3x + 3x?

Datum: Ergebnis:

2+ 2% —4(5x — 2x°) — 9x°

4(7x + 3x3) —6x* — x* +x°

3(6x — 7x3) + 70+ 2% + 4y

4(7x2 — 6x2) +x—x =3

3(8)63 + 7x2) +x+4x—3x
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Vereinfachende Polynome

Name:

4(8x — 4x3)+ 53— 6x—x°
—17x° + 5% + 26x

3(9%° + 8x) + 8% — Sx +x°
3632 + 19x

6x% + 8% + 2% + 3(7x° — )
23 + 358 — 27x

2x— 2 — 4% + 3x) — Tx°
—7x — 1422 — 10x

5x+ 4x? — 9> — 3x + 3x?
—Ox + 7 + 2x

Datum: Ergebnis:

2x+ 2% — 4(5x — 2x°) — 9

X — 18x

4(7x + 3x3) —6x? — ¥ +x?
122> — 662 + 28x

3(6x— 7x3) + 72 + 2% + 4x°
—10x° + 2% + 18x

4(7)62 — 6)(2)+x—x3 — 3y
—4 + 4 +x

3(8)(?3 + 7x2) +x+4x—3x
24x3 + 212% + 2x
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